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Two finite bodies contain the same fluid which has a temperature independent specific heat at
contant volume of cy. Body 2 has an initial temperature 73 and a constant volume V5. Body 1 has
an initial temperature T; and a constant volume V;. Let T; > T3 and V3 = 2V,

1. (2 points) If the two bodies are brought into contact and are otherwise isolated from their
surroundings by an adiabatic wall, what it their final temperature?

2. (3 points) If a Camnot engine is connected between the two bodies, what is their final
temperature? :
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